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PHYSICS

BOOKS - NCERT EXEMPLAR

LIGHT

Multiple Choice Questions

1. Part of the eye which controls the light

entering is called


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GKU1DGxuzrwB

A. iris

B. lens

C. cornea

D. retina

Answer: A

o Watch Video Solution

2. We can see a non-luminous object when

light:


https://dl.doubtnut.com/l/_GKU1DGxuzrwB
https://dl.doubtnut.com/l/_nTsjc3ICvaE3

A. emitted by the object falls on the eye.

B. is reflected from the object towards our

eye.

C. completely passes through the object.

D. gets completely absorbed by the object.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nTsjc3ICvaE3

3. Light is falling on surface S1, S2, S3 as shown

in Fig.16.1.
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Surfaces on which the angle of incidence is

equal to the angle of reflection is/are


https://dl.doubtnut.com/l/_EpVTlyev1h0q

A. Sl only

B. Sg and Sg

C. .51 and S, only

D. all the three sufrace

Answer: D

o Watch Video Solution

4. A tiny mirror M is fixed on a piece of
cardboard placed on a table. The cardboard is

illuminated by light from a bulb. The position


https://dl.doubtnut.com/l/_EpVTlyev1h0q
https://dl.doubtnut.com/l/_tDq2o5u0KBOA

of eye with respect to position of bulb is
shown in Fig.16.2 as A, B, C and D. In which

position mirror will be visible?
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A. Both Aand B

B.C


https://dl.doubtnut.com/l/_tDq2o5u0KBOA

C.B

D.D

Answer:

o Watch Video Solution

5. A small hole P is made in a piece of
cardboard. The hole is illuminated by a torch
as shown in Fig. 163. The pencil of light

coming out of the hole falls on a mirror.


https://dl.doubtnut.com/l/_tDq2o5u0KBOA
https://dl.doubtnut.com/l/_SDubYDY9r8DX

At which point should the eye be placed so

that the hole can be seen?

A A


https://dl.doubtnut.com/l/_SDubYDY9r8DX

B.C

C.B

D.D

Answer: A

o Watch Video Solution

6. Two mirrors A and B are placed at right

angles to each other as shown in Fig.16.4.


https://dl.doubtnut.com/l/_SDubYDY9r8DX
https://dl.doubtnut.com/l/_k5A23WpUiuqU

A ray of light incident on mirror A at an angle
of 250 falls on mirror B after reflection. The
angle of reflection for the ray reflected from
mirror B would be

A.25°

B.65°

C.50°

D.115°


https://dl.doubtnut.com/l/_k5A23WpUiuqU

Answer: B

o Watch Video Solution

7. Which of the following statements is correct

regarding rods and cones in the human eye?

A. Cones are sensitive to dim light

B. Cones are sensitive to bright light.

C. Rods are sensitive to bright light.

D. Rods can sense colour


https://dl.doubtnut.com/l/_k5A23WpUiuqU
https://dl.doubtnut.com/l/_WHYgiJcGw0tm

Answer: B

o Watch Video Solution

8.In the figure of the human eye (Fig.16.5), the

cornea is represented by the letter,.

A A


https://dl.doubtnut.com/l/_WHYgiJcGw0tm
https://dl.doubtnut.com/l/_vGvFYxjLyaIX

B.C

C.B

D.D

Answer: C

o Watch Video Solution

Very Short Answer Questions

1. Name the part of the eye which gives colour

to the eyes.


https://dl.doubtnut.com/l/_vGvFYxjLyaIX
https://dl.doubtnut.com/l/_fwhGz6JmvarS

A. Iris

B. Retina

C. Cornea

D. Rods and cones

Answer: A

o Watch Video Solution

2. Boojho while waving his hand very fast in

front of his eyes, observes that his fingers


https://dl.doubtnut.com/l/_fwhGz6JmvarS
https://dl.doubtnut.com/l/_IXqpCsBAOy3t

appear blurred. What could be the reason for

it?

A. Lateral Inversion

B. Persistance Of Vision

C. Reflection

D. None of the Above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IXqpCsBAOy3t

3. How many times is a ray of light reflected by
two plane mirrors placed parallel and facing

each other?

o Watch Video Solution

4. The angle between incident ray and

reflected ray is 60°. What is the value of angle

of incidence?

A. 60°

B. 30°


https://dl.doubtnut.com/l/_85ToOxw7GKAQ
https://dl.doubtnut.com/l/_BU4w9SgBY3Ul

C. 90°

D. 1200°

Answer: B

o Watch Video Solution

5. The distance between the object and its
image formed by a plane mirror appears to be
24 cm. What is the distance between the

mirror and the object?


https://dl.doubtnut.com/l/_BU4w9SgBY3Ul
https://dl.doubtnut.com/l/_PEVPMa3TlUrx

A. 24 cm

B.12 cm

C.36cm

D.48 cm

Answer: B

° Watch Video Solution

Short Answer Questions


https://dl.doubtnut.com/l/_PEVPMa3TlUrx

1. What happens to light when it gets

dispersed? Give an example.

o Watch Video Solution

2. Draw Fig.16.6 showing the position of the

plane mirror. Also label the angle of incidence


https://dl.doubtnut.com/l/_8JtemLWESzWu
https://dl.doubtnut.com/l/_Y6UKicpekBQB

and angle of reflection on it.
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o Watch Video Solution

3. Look at Fig.16.7. Can the image of the child in

it be obtained on a screen?


https://dl.doubtnut.com/l/_Y6UKicpekBQB
https://dl.doubtnut.com/l/_zDOAxOuyIUIO

° Watch Video Solution

4. Eyes of the nocturnal birds have large
cornea and a large pupil. How does this

structure help them?

o Watch Video Solution



https://dl.doubtnut.com/l/_zDOAxOuyIUIO
https://dl.doubtnut.com/l/_WQSZjwI7OXaY

5. What kind of lens is there in our eyes?

Where does it form the image of an object?

o Watch Video Solution

6. Which part of the eye gets affected if

someone is suffering from cataract?

o Watch Video Solution

Long Answer Questions


https://dl.doubtnut.com/l/_WQSZjwI7OXaY
https://dl.doubtnut.com/l/_iFVURwTXFLpG
https://dl.doubtnut.com/l/_004bBzUo0vDX

1. Boojho planned an activity to observe an
object A through pipes as shown in Fig. 16.8,
so that he could see objects which he could

not directly see.

A [Ohject o bhe seen|
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How many mirrors should he use to see the

objects?

A. three

B. four


https://dl.doubtnut.com/l/_1TPZavUI7jqo

C.two

D.one

Answer: A

° Watch Video Solution

2. Indicate the positions of the mirrors in the

figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_1TPZavUI7jqo
https://dl.doubtnut.com/l/_ESrYIu87wkMj

3. What must be the angle with respect to the
incident light at which he should place the

mirrors?

o Watch Video Solution

4. If any of the mirrors is removed, will he be

able to see the objects?

o Watch Video Solution



https://dl.doubtnut.com/l/_Fe2kgVr3vNQ4
https://dl.doubtnut.com/l/_vH37O3JruufY

5. There is a mistake in each of the following
ray diagrams given as Fig. 16.9 a, b, and c. Make
the necessary correction (s).

CLLLLLSGELLLLE .qu/// grIII%
“\\A
N jf
e /’T /{
7

i) fr]

° Watch Video Solution

6. Explain the process which enables us to

perceive motion in a cartoon film.

o Watch Video Solution



https://dl.doubtnut.com/l/_m5jvNOMMJc9L
https://dl.doubtnut.com/l/_fc2fWfDV5Q0O

7. How is the phenomenon of reflection used
in making a kaleidoscope? What are the

applications of a kaleidoscope?

o View Text Solution

8. Fig. 16.10 shows the word REST written in

two ways in front of a mirror. Show how the


https://dl.doubtnut.com/l/_fc2fWfDV5Q0O
https://dl.doubtnut.com/l/_qEeoX6cS7Jwz
https://dl.doubtnut.com/l/_hO8546RU5h6s

word would appear in the mirror.
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° Watch Video Solution

9. Write down the names of parts of the eye in

the blank spacesshown in Fig. 16.10.

I o Watch Video Solution


https://dl.doubtnut.com/l/_hO8546RU5h6s
https://dl.doubtnut.com/l/_vQDu82rsSuMB



https://dl.doubtnut.com/l/_vQDu82rsSuMB

